
 Minimizing DFA: Example (3)
(1)

Initial split:

9990183,853, 9Gia G22433
non-accept states accept states

sider split 9800G,G53:
InputO: 9909932853 0c 993380,853

same partition
Input 1: 9953 => 9953

380.93 == 99agu3]spliti



15 Consider split i [Gia G2sGx3
InputO; 9G12 G2, GU3 Oc 9823

Input1: 991a Ga 943 Is 9953noit'2) Consider spliti [953 no split possible
14
Consider split: 9809833 =no more splits
InputO:990,833 0> 9832 803 can be done.

nO

Input 1:990a 993 =c991, asampartition split!
same partition



2

Resulting DFA:
to to G's

-> 3901933 is [91nGu,Gr3 c 9953

% of state reduction:50%


